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Q.1 Solve the following questions (9th std)

1) AnS. ¢ atio of 138 to 161 = 1:13

_23x6 =§
231{7 7
=6-7
2) Ans.
) Ratioof 114 to 133 = 114
133
= 19x6 » g
19x7 7
3) AnS. Ratio of radius to diameter of a circle g
g g |
T 2
=122

Q.2 Solve the followmg guestions (9th std)

D Ans. 247, 274

247 < 274

247 < 274
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Q.3 Choose the correct alternative answer for each of the following questions:

1)Ans. (a) (6, 0)




Observing carefully the set of values,
Coordinate pair (6, 0) is common in both
Therefore solution of system of linear equations will be (6, 0)
2) Ans. (b) (10x +y) + (10y + x) = 88
Given that x and y are tens and unit’s place digits of a two digit number.
Number = 10x +y
Reversible number = 10y + x
Now, Sum of a two digit number and its reversible number is 88
(10x +y) + (10y +x) = 88
3)Ans. (a)
Given that one girl alone finishes the work in x days
1 day work of a girl = l
X
1 day work of 8 girls = 8‘ = ;
And one boy alone finishesthe work in v days

1 day work of a boy= -1-
5

v

N\

(1
1 day work of 12 boys = 12| —
oY

v /

Therefore, condition 8 girls and 12 boys can finish workin 10 days is expressible as
g

S _" 121 — |=—
\x) ) 10
condition 6 girls and 8 boys can finish work in 14 daysis expressible as
Similarly,
/ N\ 79
60 S SO 2 T |
6| = |+8|—|=—
\x) \y/) 14
71\ fza 71\ «’
R 1V N1 S
8| = | +12| = [=— 6| = |+8] = |=—
Thus, the equations are '\ X \»J) 10 \x) \»p) 14
4)Ans. (c) 1

As -2 is y- intercept. Therefore, lines meets y axis at (0, —2)
(0, —2) are one of the solution of equation 2x + ky + 14 =0
Placex=0andy = —2inequation 2x +ky + 14 =0
2(0) +k(-2)+14=0
—2k+14=0
—2k=-14
k=7
5)Ans. (d) 9, 16
Assume the two numbers be ‘x’ and ‘y’.
Now, Sum of two numbers is 25

x+ty=25..(])

Their difference is 7
X—y=7 ...(I0)

Adding (1) and (I1) , we get
2x =32

x=16

Place x = 16 in equation (1)
X+y=25



16 +y=25
y=25-16
y=9
Thus, the numbers are 9 and 16
6)Ans. (b)x+y=50;x+2y=75
Given that ‘x’ be the number of Rel coins and ‘y’ be the number of Re 2 coins
The total number of coins is 50.
X+y=50
And the coins amount to Rs. 75
1(x) +2(y) =75
X+2y=75
Therefore, equations so formed are x +y=50; x+2y =75
Q.4 Solve the following questions (ANY FIVE)
1)Ans.  Here the equations are
2x-3yv=9_.(])
2x+y=13 __.(II)

As the sign of ‘2x’ in the equations (I) and (II) is same, proceed as subtracting equation (I) and (II)

2x — 3y = 9

2x + y = 13

— 4y = - 4

v

(4

V=—-

=

y=1

Place y=1 in equation (I) and obtain the value of “x~
2x-3x1=9

x=6
. Solutionis (x,v)=(6, 1)



2) Ans. Here the equations are

Sm-3n=19 ___(I)
m-6n=-7_.(I)
Both the variables are having different
coefficients, first make the coefficient same.
Multiply equation (II) by *57 as
Sm—30n=-35 .. (II)

As the sign of “5m’ in both the equationsis
same, proceed as subtracting equation (II) and

(1)
Sm - 3n = 19
Sm - 30m = - 35
- + = +
27n = 54
54
n=—
27
m=2
Place m =2 in equation (I) and obtain the
value of ‘n’
5 x2 -3n=19
10-3n=19
- 3n=15-10
- 3n=9
n= 9
(-3)
n=(-3)
. Solutionis (m,n)=(2,-3)
3) Ans. s 3
A=]. 4 =(5x9)-B3xT7=45-21 =24

[(-8) X ®)] — [(-3 ) x 2)] = -32 - (-6)

4) Ans. | -8 =3

=-32 + 6 =-26



5) Ans. Let’s add equations (I) and (II).

5x+3y=9
+2x-3y=12
[7]x=

Place x =3 in equation (I).
sx[3]+3y=9

3y

B

<
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=—2

.". Solution is (x, y)=( : )

6)ANS.  Here the equations are
x+7y=10 ... ()
3x-2y=7_.(II)
Both the variables are having different coefficients, first make the coefficient same. Multiply equation

(I)by 37 as
3x+21y=30 .. (II)

As the sign of ‘3x’ in the equations (II) and (III) is same, proceed as subtracting equation (II) and (III)

3x + 21y = 30
3x — 2y = 7

23y = 23

y=

N|N
L | W

y=1
Place v=1 in equation (I) and obtain the value of “x~
x+7x1=10

x+7=10

x=10-7

x=3

. Solutionis (x,v)=(3,1)

7) Ans. 285 9

B = =RV x3B3)-2x9=18-18=0
5 5B [ -1 ]

Q.5 Complete the following Activities (ANY THREE)



DANs. 3x + 2y =29. .. (Dand 5x -y =18 ... (1)
Let’s solve the equations by eliminating “y". Fill suitably the boxes below
Multiplying equation (II) by 2.
i ¢ x-yx 18x
L10x - 2p =36 |[.. (m)

Let’s add equations (I) and (III)
3 + 2y = 29

o] [y ]-[36 ]
Bz ] < [13 | wox=[ ]

Substituting X = 5 in equation (I)

3 + 2y = 29

3 x[1 J+2p=129

<[ |aaps o
=29 - [5]
2y = [26] sy =[]

(x, y) = ( ) is the solution.

2)Ans.  Here the equations are
3a+5b=26...(0)
a+5b=22 ()
As the sign of “5b” in both the equationsis same, proceed as subtracting equation (I) and (II)

3a + 5 = 26
a + 5 = 22
=
4
a=—
2
a=P |

Place a =2 in equation (I) and obtain the value of ‘b’
3x2+5b=[6]

6+5b=26

5b=[24-6

5b=20

p=20]
b=f ]

. Solution is (a, b)=(2. 4)



Q.6

3) Ans. Given equations are
3x—-4v=10
4x +3y=5
3 4
4 3
=36) )
=9+16
=25

Thus,
D

x=—

D
50

25
2]

St

ro || |
21 |l

and

10 —4
5 3
=10(3)-5(—4)

=30+p0]

=[50

X

-]

-

-1

Therefore, (x, v)=(2,-1)

1s the solution.

4) Ans. Given equations are
6x—4yv=-12
8x-3y=-2

6 —4

8 3

=b(-3)-8(-4)
=—18+32
=14

D

= X

D=

et

28
14

=2 ]

|12 -4
: —‘ -2 -3
=-12(-3)-{(-2)
J36]-3
=28
D,
D
14
6

Therefore, (x, v) ={(2. 6)

is the solution.

Solve the following questions (ANY THREE)

gai
=3(5)-4(10)
J15}-40
=25
Drz‘s —12‘
g
A=) =6(-2)-8(-12)
=—12+96
84




1) Ans. Given equations are
2x+3y=2
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2) Ans. 4
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2 3
1 —J
=2(-1)-1(3)
=2-3

=5

1s the solution.
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¥

i
=2(1)-2(2)
=24

=-2

1
Replacing (IJ by m and (:] by n in equations (I) and (II), we get

X

dm + Sn =T . ..
3m + 4n =5 ...

(III)
(Iv)

On solving these equations we get

m=3.n=-1
Now, m = —
1
=5
y

. Solution of given simultaneous equations is (x, y)

!
= G, -D



3) Ans. To draw the graphs of equations 3x — y =2; 2x — y =3, obtain 4 ordered pairs for each equation as

b 0 2 1 2
IX—-v=2— P,
X-y 3
¥ 2 0 1 4
XYy 09 _2 2 l, l 2, 4
(=¥ | (0,-2) .0 11 | 2.9
3
> ¢ 0 3 2 -1
o 2
L v 3 0 1 =
(I, !’) (09 _3) 3 (2, 1) (_1’ Tn
5.0 5

Now plotting the ordered pairs on graph paper as

Observe the intersecting point as (-1, -5).
Therefore, (X, y) = (-1, -5) is the solution



4) Ans. To draw the graphs of equationsx + v =0; 2x — y =9, obtain 4 ordered pairs for each equation as

Sy X 0 1 -2 3
¥ 0 -1 2 -3
x.y) | 0,00 | Q,-1) | (-2,2) | (3,-3)
X 0 9 5 +
2x—-y=9— 5
¥y -9 0 1 -1
xy) | (0.-9) (% ,0) G.1) | @.-1

Now plotting the ordered pairs on graph paper as

Observe the intersecting point as (3, -3).
Therefore, (X, y) = (3, -3) is the solution



5) Ans. Assume that the greater numberbe “x’ and smallernumber be ‘y’
From condition (I): Two numbers differ by 3

x—y=3..(D
From condition (II): The sum of twice the smaller number and thrice the greater number is 19
2y +3x=19
3x+2y=19 ... (II)
Solving (I) and (II) using Cramer’s rule as
1 -1 3 -1
D — Dx S Dr = 1 3
3 2 19 2 > 3 19
=1(2)-3(-1) =3(2)-19(-1) =1(19)-3(3)
=2+3 =6+19 =19-9
Thus,
D. D,
XxX=— V=—
D © D
5 5
=5 =2

Therefore. thenumbersare 5 and 2.



